using the result A-V = AV.

$$RAIS = \frac{\Delta}{\nabla} - \frac{\nabla}{\Delta}$$

$$= \frac{\Delta^2 - \nabla^2}{\nabla \Delta}$$

$$= \frac{(\Delta + \nabla)(\Delta - \nabla)}{\Delta - \nabla}, \quad \Delta - \nabla = \Delta \nabla, \quad \text{given}$$

Borned.

E. Prove that

$$\left(\frac{\Delta^2}{E}\right) n^3 = 6x$$
, I being the interval

of differences.

$$\begin{array}{lll}
\frac{36f^{2}}{E} \\
L.H.S. &= \left(\frac{\Delta^{2}}{E}\right) n^{3} \\
&= \left(\frac{E-1}{E}\right)^{2} n^{3} \\
&= \left(\frac{E^{2}-2E+1}{E}\right) n^{3} \\
&= \left(\frac{E-2E+1}{E}\right) n^{3} \\
&= \left(\frac{E-2+E^{-1}}{E}\right) n^{3} \\
&= \left(\frac{E-$$

$$= (2) + 3(2) +$$

Ex Evaluate
$$\frac{\Delta^2}{E}e^{2x}\frac{Ee^{2x}}{\Delta^2e^{2x}}$$
, Libering the interval

Sol?
$$\frac{\Delta^{r}}{E} = \frac{e^{n}}{A^{r}e^{n}}$$

$$= (A^{r}E^{-1})e^{n} \frac{Ee^{n}}{A^{r}e^{n}}$$

$$= A^{r}e^{n} + e^{n}e^{n}$$

$$= A^{r}e^{n} + e^{n}e^{n}$$

$$= e^{n} + e^{n}e^{n}$$

Sel!
$$\frac{1}{L\cdot H\cdot 5} = \Delta \log f(n)$$

$$= \log f(n+h) - \log f(n)$$

$$= \log \frac{f(n+h)}{f(n)} = \log \frac{Ef(n)}{f(n)}$$

$$= \log \left\{ \frac{(1+4)f(n)}{f(n)} \right\}, \quad E = 1+\Delta$$

$$= \log \left\{ 1 + \frac{\Delta f(n)}{f(n)} \right\}$$

$$= R \cdot H \cdot 5.$$

Ex Evaluate
$$\Delta^{n}(3e^{n})$$

Sol": $\Delta(3e^{n}) = 3(4e^{n})$

$$= 3 (e^{n+h} - e^{n})$$

$$= 3 e^{n} (e^{h} - 1)$$

$$A^{n}(3e^{n}) = A\{A(3e^{n})\}$$

$$= A\{3e^{n}(e^{h}-1)\}$$

$$= 3(e^{h}-1)Ae^{n}$$

$$= 3(e^{h}-1)(e^{n+h}-e^{n})$$

=
$$3(e^{h}-1)(e^{h}-1)e^{h}$$

=
$$3(e^{h}-1)^{2}e^{h} \leftarrow Am$$
.

H.W. Evaluate

(42 (co 2n).

; Am: - 4 sin h cus (2n+2h)

(2) 1(n+con)

; An: $h-2\sin(n+\frac{h}{2})\sin\frac{h}{2}$

(3) 1 tan 2

3 Am: +an [h 1+hn+n2]

Rowthat (4) n? = . 6 h 2

where his the interval of differences.

Ex. Show by induction that $A^{n}\sin(a+bx) = \left(2\sin\frac{b}{2}\right)^{n}\sin\left(a+bx\right) + \frac{n}{2}\left(b+\pi\right)$ so! We have

4 sin (a+bx) = sin fa+b(n+1)} - sin (a+bn), where diff. is 1

 $= 2 \cos \frac{2a+2bn+b}{2} \sin \frac{b}{2}$

[:: sin (+sin D = 2 cm (+) sin (-))

 $=(2\sin\frac{b}{2})\sin{\frac{1}{2}}+(a+bn+\frac{b}{2})$

= 2 Lin & Lin [a+bn+2 (b+11)]

This show that the result is true for n=1.

Let us assume that the result is true

for n=k, (REM). i.e.

 A^{k} $\sin(a+bn) = (2\sin\frac{b}{2})^{k}$ $\sin\frac{a+bn+\frac{k}{2}(b+17)}{}$

Now, operating by 4 on both sides, west

1 Sin (a+bn) = 1 (25m =) Sin ga+ bn+ * (b+ 17)}

 $= (2\sin\frac{b}{k})^{k} \left[\sin\left(a + b(x+1) + \frac{k}{2}(b+\pi)\right) \right]$ - sinfa+bx+ 2 (b+11)}]

$$\frac{d^{k+1} \sin(a+bn)}{2} = (2\sin\frac{b}{2})^{k} \left[2\cos\frac{2fa+bn+\frac{k}{2}(b+\pi)}{2} + b \sin\frac{b}{2} \right] \\
= (2\sin\frac{b}{2})^{k+1} \cos \left\{ a+bn+\frac{k}{2}(b+\pi) + \frac{b}{2} \right\} \\
= (2\sin\frac{b}{2})^{k+1} \sin \left[\frac{\pi}{2} + \left\{ a+bn+\frac{k}{2}(b+\pi) + \frac{b}{2} \right\} \right] \\
= (2\sin\frac{b}{2})^{k+1} \sin \left[a+bn+\frac{1}{2}(\pi+kb+k\pi+b) \right] \\
= (2\sin\frac{b}{2})^{k+1} \sin \left[a+bn+\frac{1}{2}(\pi+kb+k\pi+b) \right]$$

.. The result is tone for k+1.

Hence by mathematical induction, the A Bound. result is true of nEN.

H.w. show by mathematical induction that

 $\Delta^n \cos(a+bn) = \left(2 \sin \frac{b}{2}\right) \cos\left\{a+bn+\frac{n}{2}\left(b+\pi\right)\right\}$